TO FORMULATE A WORD OR PHRASE OR EVEN A SET OF PHRASES THAT WOULD
EXPLAIN HOW THE AMERICAN INDIAN IS INFLUENCED BY GENETIC TIME, IS MET
WITH SOMEWHAT OF A CHALLENGE BECAUSE THE OTHER CULTURE(WHITE)DOES NOT
HAVE A SCIENCE THAT DEALS WITH GEWETICS HAVING A COMMUNICATION SYETEM,
LET ALOWE HAVING A HUMAN BEING UWDERSTAWDING THE SYSTEM. THE WHITE CULTURE
HAS AT MOST, GENETICS HAVING A MEMORY. WOTHING MORE. AMERICAN INDIANS
CANNOT EXPLAIN THIS COMMUNICATION S¥STEM, OWLY THAT THEY ENOW WHEHW TO
RESPOND 70 IT. THAT THIS INTELLIGENCE SFEAKS TO THE HUMAW MIND IN A
LAWGUAGE THAT THE SOUNDS HAVE WOT BEEN FORMULATED TO MAEE IT A
LANGUAGE THAT COULD BE WRITTEN DOWHN 50 THAT EVERYOME COULD LEARN IT
AND THEN SPEAK ON IT INTELLECTUALLY

WITH THAT IN MIND, THE ONLY AVENUE LEFT WOULD BE TO EXPLAIN WHY
AMERICAN INDIANS RESPOWD TO IT AND WHY THEY GOVERN THEIR LIVES BY WHAT
ISENOWN ASTN DIAN TIME.,

TO BEGIN, WE WILL USE ASSOCIATIONS WHICH SHQULD BUILD A BRIDGE OF
UNDERSTANDING. THE WHITE CULTURE HAS 86,400 SECONWDS OR 1440 MINUTES OR
24 HOURS THAT MAKE UP ONE COMPLETE DAY. THE AMERICAN INDIAN HAS A LIEE
S¥YSTEM WITH ONE SMALL EXCEPTIOMN. UNDER CERTAIN CIRCUMSTAMNCES, THEIR SECONDS
OR MINUTES OR HOURS IS COMPUTED WITHOUT LIGHT, WHILE OTHER CONDITIONS
REQUIRE TIME TO BE COMPUTED WITH LIGHT. THE REASOM FOR THIS, IS THAT
THEY HAD A SCIENCE THAT TEACHES & THEORY THAT IS BASED ON LIGHT BEING
A BY-PRODUCT OF TIME. IN THE W HITE CULTURE-LIGHT IS TIME OR TiME IS
LIGHT. TO THE INDIAN AND HIS SCIENCES, THEY ARE TWO SEPARATE SCIENCES.

(WITH LIGHT) 2172 WOULD BE THE SECONDS, DIVIDE BY 12=181 MINUTES
DIVIDE BY 12=15.08333 HOURS FOR ONE COMPLETE DAY. NOW WE HAVE TO FIND
WOMBERS THAT EACH WOULD UNDERSTAND. 24HOURS(WHITE)DIVIDE BY 15.08333(INDIAN)
=(WHITEJ1HR. 35MIN. 28.185EC. TIMES 15.08333=24 HOURS.

THE MOST INTERESTING WUMBERING SYSTEM USED BY AMERICAN INDIANS, IS,
WHAT ¥YOU WOULD INDENTIFY TO THE MINUTE SYSTEM, WHICH IS 181 UNITS FOR OMWE
COMPLETE DAY,

THE 181 UNITS IS THOUGHT OF AS BETNG ONE/HALF OF A YEAR. THIS TIMES
2= 362 DAYS. BUT THIS IS 3 DAYS SHORT OF & 365 DAY YEAR. HOW DOES THE
AMERICAN INDIAN COMPENSATE FOR THE 3 DAYS WEEDED, PLUS THE LEAP YEAR
PROBLEM? IN THE CLDEN DAYS WHICH CAN STILL BE FOUND AMOUNG THE TEWA
INDIANWS IN THE SOUTHWEST, THERE IS, WHAT IS CALLED THE OQUTIET
DAYGE.3DAYS IN WHICH TRIBAL MEMBERS ARF TO DO HO WORK OR BUILDING

THESE 3 DAYS ARE TO BE SPENT REDEDICATING OWESELF TO THE CREATOR,
GREAT SPIRIT. THE READING OF THE GREAT LAW, WHICH IS THE BOOE OF
DEUTERONOMY THAT WOULD BE FOUND IN THE OLD COPTIC BIBELE OF 451AD.

THIS WOULD BE 181 ¥ 3= 543 UNITS PER YEAR. 543 ¥ 4 — 2172 UNITS FOR
THE LEAP YEAR, WHICH NOW TELLS THE TRIBE TO HOLD A CORNH DANCE FOR THE
FIRST-BORN(GIRLS), AND THE FUTURE(TIME)JDANCE FOR THE TIMEWALKERS(BOYS).

THIS DANCE DAY BECOMES THE ADDITIONAL DAY WEEDED FOR LEAFP YEAR.

REMEMBER THE 2172 UNITS? THE 18l UNITS PER DAY WAS TIME WITH LIGHT.

LETS TAKE & LOOKE AT 180 UNITS PER DAY, WHICH IS TIME WITHOUT LIGHT.

THE MOST INTERESTING NUMBERING SYSTEM USED BY AMERICAN INDIANS, IS, WHAT YOU WOULD
INDENTTFY TO THE MINUTE SYSTEM, WHICH IS 181 UNITS FOR ONE nav



